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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
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The output of a NAND gate is 0 when:

(A) A=1and B=0 (B) A=0 and B=0 ©
The brain of any computer is:
(A) Control unit =#¥J+# (B} Monitor <L (C)

What happens to the atomic number of an element, which
eject a beta particle?

{B)
(D)

(A) increases by 1 §Z_ ko2 Ll

(C) decreases by 2 §ists
Which one of the waves cannot pass through vacuum?
J;f:;,g'ﬂ,-f
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The loudness of sound is most closely related to its:

(A) Frequency S} (B) Period is (C)
The speed of light in air is 3x10°ms ™" and in glass 2x10°ms™.

(B)
(D)

{A) Sound waves

(C) Television waves

The refractive index of glass is:

(A) 0.67 (By 1.00 (C)
An ophthalmologist piaces a 2.00 D lens next to
0.35 D lens. The power of combination is:

(A} 0.35D (B) 185D (C)
Capacitance is defined as:

(A} VIC (B) Qv (C)
What is voltage across a 6 {2 resistorwhen 3A of
current pass through it?

(A) 2V (B} 9V {C)

What is the power rating of a lamp connected to a 12V

source. when it carries 2.5 A current?

(A) 48W (B) 155 W (C}
Lenz's Law is in accordance to the law of canservation of:
{A) energy ./ (B) mass )
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PhySiCS (Essay Type)  Group-1  (For all sessions)
Time: 1:45 Hours Marks: 48
Section-1 :
2- Write short answers of any five part from the following, 2x5=10
i. Define the transverse waves and write its one example. ii. Whatis'meant by reflection of waves?
iii. Why the sound of women is shrill as compared to men? iv. Definevibratory motion.
v. What is meant by SONAR? vi. State the laws of refraction of light.

vii. Define the compound microscope.
viii. Calculate the frequency of a sound wave if speed of sound wave is 340 ms™! and wavelength is 0.5m.

3- Write short answers of any five part from the following. 2x%5=10
i. State Coulomb's law and write its formuia. ~ii.  Write two uses of capacitors.
iil. What is Ammeter?How is it connected in a circuit? iv. What is transformer?Write its types,
v. What is meant by mutual induction? vi. Define Relay Write its one use.

vii. What is the difference between electronic current and conventiona! current.
viil. Write the formula to find amount of energy in Kilowatt-hour?

4- Write short answers of any five part from the following. 2x5=10
i. Define "NOR" gate and draw its symbolic diagram. i.. Define thermionic emission.
iii. Define Half-life. iv. What are the sec?ndary storage devices?
v. Write difference between stable and unstable nuclei. vi. Write down two advantages of electronic mail.

vii. What is difference between analogue guantities and analogue electronics?
viii. How fission reaction is controlled in a nuclear reactor?

Section -1I 9x2=18
Note: Answer any two questions from the following.
. (a) Explain the different types of mechanical waves with examples. 04

(b) A convex lens of focal length 8cm is to be used to form a virtual image three times the size of the object. 05

Where must the lens be placed?
. (a) Write down the factors on which resistance of a conductor depends upon. 04
(b) A point charge of +2C is transferred from a paint at potential 100V to a point at potential 50V.What would 05

be the energy supplied by the charge?
. {a) Explain any two components of cathod ray oscilloscope. _ 04
(b) Half life of radioactive element is 10 minutes. If the initial rate is 368 counts per minute, find the time by 05

which count rate reaches 23 counts per minute. - .
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NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A B,C & D to each

guestion are given. Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

Which waves require medium for their propagation?

(A) X-rays ya =
{C)} Mechanical waves Jg:-ff‘“'g

Which form of energy is sound?

P

(A) Electrical £  (B) Mechanical &
Radius of curvature is of the facal length:
(A) Half s (B) Double o

The endoscope used to examine thethroat is called:
(A} Bronchoscope .?.,*/’354
{C) Gastroscope 7;@}'*:""

5 joutes of work is needed to shift 10C of charge from one place

to another. The potential difference between the places is:

(A) 05V (B) 2V

When we double the voltage in a simple electric circuit, we

double the:

(A) Current =2/ (B) Power il
One Pico farad is equal to:

(A) 1x107"°F (B) 1x10°F
The value of 1 KWh in Joules is:

(A) 3.6x10° B) 3.6x10°

The logic operation performed by the given Gate is.

(A) AND ! (B) NOR .t
The equation of AND operation is:
(A) X=A+B (B) X= 4

. Email stands for

{A) emergency mail qu’;_e/ﬁ'

S

(C) externat mail

Se G ASE 2 L ilgasy

(B) Radio waves J#:fi.
(D) Electromagnetic waves Jef!u@"l:”-'}gr

PR AR
(D) Chemical £
e by 3@,5;’/5- WS T-J-f{_ y)
(D) Three times &2

(C) Thermal J~#

(C) Equal x4
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(B) cystoscope 73@""
(D} Periscope ..;,:5[_5,5
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(C). 5V (D) 10V
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(C) Resistance (7. (D)BothAandB s
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(C) 1x10°F (D) 1x107%F
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(C) 3.6x10° (D) 3.6x10*
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(C) NAND (D) OR T
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(C) X=AB (D) X=A4.B
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(B) extra mail Sk
(D) electronic mail ks

Which among the following radiations has more penetrating power?  feoslsl -.ﬁv_.ldf' J-JQ. ufﬁilgfé.r;_,t.:&,;;

(A) a beta radiation AL
(C) an aipha particle L,E—'iguh

(B} a gamma radiation ;_wf

(D) all these are equal it
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Ph)’SiCS (Essay Type)  Group-II (For all-sessions)
Time: 1:45 Hours ' Marks: 48
Section-1
2. Write short answers of any five part from the following. 2x5=10
i, Write any two features of simple harmonic motion. ii. State Snell's law.

iii. What is the difference between musical sounds and noise.
iv. What nature of images are formed by concave and convex mirrors.
v. Which sound intensity is taken as reference intensity?

vi. A wave moves on a slinky with frequency of 4Hz and wavelength of 0.4m. What is the speed of the wave?

vii. If the length of a simple pendulum is doubled what will be the change in its time period?
viii. With which characteristic of sound we can recognize two persons speaking with the same loudness?

3- Write short answers of any five part from the following. 2x5=10
i, Define potentiat difference between two points. ii. Define Joule's Law.
i Define electric field intensity and write its unit. iv. Name the methods of combining the resistars.
v. Define mutual induction. vi. Define electric power and write its unit.

vii. Define electromagnetic induction.
vili. Write the names of two applications of electromagnets.

4. Write short answers of any five part from the following. 2%5=10
i Differenciate between RAM and ROM. i. Write the names of parts of C.R.C.
iii. What are logical operations? iv. What is Flash drive?
v. What is fax machine?Describe its working. vi. Write two characteristics of Beta-Particle.

vii. Define radioactive isotopes.
viii. What is carbon dating?

Section -11 9x2=18

Note: Answer any two questions from the following.
5. {a) Discuss the motion of a ball placed in a bowl is an example of simple harmonic motion.
(b) The power of a convex iens is 5D.At what distance the object should be placed from the lens,so that its
real and 2 times larger image is formed.
8. (a) What is meant by series combination of resistors?Write their characteristics
(b) The charge of how many negatively charged particles would be equal to 100 # C Assume charge
on one negative particle is 1.6x107"°C.

7. (a) What are three basic logic gates?Give their boolean gxpression and truth table.
e Tk e henlf b ok YA 2726 Asa i ied| i i
16 mole of this nucliediof nitrogen is observed for 29.2 s.Calculate
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